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a.1.
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Q.6

Q.7

Q.8

Q.9.

Q.10.

TEST |

ACCOUNTING, AUDITING & TAXATION

Under which one of the following methods of depreciation, depreciation amount provided is kept aslde
and invested in readily marketable securities 7

{1} Sinking fund method (2} Diminishing balance method (3} Straight lIne method

{4} Annuily meihod i5) Production method

With reference to preparation of financial staternents — Profit and Loss Account, which one of the
following statement is True" 7

{1} The term ‘Accrued Income’ and ‘Outstanding Incoma’ have synonymous meanings

(2} Premium paid on the life policy of the proprietor [s debited to profit and loss account

{3) The curment liabilities are used to denole those liahilities which are payable after a year

(4} Creating reserve for discount on creditors is not strictly according to the principles of conservation
{8} Other than those given as optlions

In respact of statement of scurces and application of funds, which one of the followirg statement is

‘Falsa" 7

{1} Bank financial statemen! (P&L and B'S) fall to show the movement and causes of changes In
assetsfiabilities during the year

{2) Statement of change in financial position identifies changes in asset llabilities and share holder funds
over a glven pariod

{3} Funds flow statemant points cut soorces from which additional funds have been received during the year

{4} In fund flow statement, sources and applications relating to warking capital funds are shown.

{8) Fund flow statement indicates flow of cash as well as funds,

With referance o Accounting Mechanics — Basic concepts, which one of the following statement is

‘False"?

{1) The word ‘To' is used with the accounts, which appear on the debit side of the Ledger Account

{2} The Trial Balance helps in knowing the ariihmetical accuracy of the accounting entries

{3) Ledger records fransactions in an analytical grder

{4} While posting transactions in the Ladger, If the acoounl |5 deblted in the Journal, It will be credited In
the Ladger

{5} Cther than those given as options

The process of creating & formal plan end translating goals into & quantitative format is
{1} process costing (2} activity basad costing {3} |ob order cosling
{4) budgeting (5) other than those given as opticns

The prime function of accounting i to

{1} record economic data (2] provide the information basis for action
(3} classify and record business fransaction {4) attein non-ecanomic goals

(5} other than those given as options

Which of the following would be regarded as a variable cost in the annual operation of a motar vehicle ?
{1} Hire-purchase paymenis (2} Insurance (3} Petrol
{4) Tire replacament (5) Other than those given as options

Which one of the following Accounting standard deals with Revenue Recognition 7
{1} AS-20 12} AS—17 (3) AS—13 {4) AS —10 (5) AS -0

Wastage of a naw material during @ manufacturing process is 20 parcent of input quantity, What input
guentity of raw material is required per kg. of outpul 7

{1} 1.50 kg. 12y 1.33 kg. 131 1.25 kg. {4) 1.20 kg. {5) 0.8 kg.
The cost of product as determined under standard cost system s

(1) fixed cost (2) histarical cost (3) direct cost

{4} predetermined cosi (5) other than those given as options
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.11,

@12,

.13,

.14,
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Q.16

Q.1T.

.78,

@19,

Q.20

Q.21.

Each of thrae partias invalved in &n audil ———— plays a role that contributes ta its success.
(1} customers, auditor and audites {2) the client, the auditor and the third party
(3} the cliant, 1he moderator and the audiles (4} the client, the auditor and the audiles
() other than those given as options

A company incurs the following costs al various aclivity levels.

Activity Level

4] {Units}

2.50,000 5,000

392,500 7500

4 00, 000 10,000
Uising the high-low method, wihat is the variable cest per unit 7
(1) £25 {2} T30 {3) T35 () * 40 {5} T 50
Debt Equity Ratio 18 ——
(1) Liguidity Ratia (2] Solvency Ratio (3} Profitability Ratia
(4) Activity Ratio (5) Oiher than those given as opilons

Which of the following items is not an appropriation (or distribution) of profit for a limited company 7
(1} Preference Dividend payable (2) Ordinary Dividend payable  (3) Corporate tax payable
(4} Debenture Interest payable  (5) Other than those given as options

Which one of the fallowing is not a current asset ?
{1} Baok Debts {2} Long-term invesiment {3) Shorl-term mvestment
{4) Imventories 15) Othar than those given as oplions

The mast comprenensive type of audit is the ———— system audil, which examines suitability and
effecliveness of a system as & whole.

{1) guantity (2} quality (3} preliminary

(4) sequantial (3} Other than those given as oplions

In Human Resources Accounting, which one of the following first slep s involved 7

(1) Betler human resource planning 12} Longer Time Horizon

(3) New Measures of Effective Manpower Planning  (4) Greater Accountability for Human Resources
(8) Other than those given as options

Which one of the lollowing statement is True® 7

(1) Ordinary shares have fixed dividends and stable market valles

[2) Ordinary shares have fixed dividends and volatile market valyes
(3} Ordinary shares have variable dividends and stable market values
(4} Ordinary shares have varigble dividends and volatila market values
[5) Other than those given as options

Capital Employed meang — ——
{1} Met worth (2) Metwonh + Long Term Loansg
{3) Current Assats + Current Liabllities () Wet Current Assels

{5) Cther than those given as options

Cash from operdtions is egual 1o

(1) Net Profit + Incfease in outsianding expenses {2} Nel Profit — increase in outstanding expenses
(3] Met Profit + Incragse in dablors (4} Mel Profit = Increasea in deblors

{3) Net Profil + Increase in siock

When the auditor |5 an employes of the orgenization being audited (audilas), the audi is ciassifed as an

guality audit
(1) internat {2) external {3) compliance
(4} voluniary {3) other than those given as options

D5 D



w2z

H.23.

H.24.

H.25.

H.28.

m.a2r.

w28,

H.29.

H.20.

H31.

0.32.

w.33.

it aifes B F fes d & B o B e ol el £ 7

(1) fimy g Siffée @ mEw (2) wifte & Rdmm

(a) mfe ofin, sz, il ol ot vl 8t meam (4) sifde & o od wpE A e
(8] w8 weRwE o FufRe &

"%’ B aw b v T 2,000, YERE & O Te0eeT € 3,000 8 | a0 gitEem =g ¥ 900 @ | aefi g P
g T 5008 | &' B g Al & e ofeem | oo Rt | Bt R 7 (24)
(1} 1,400 (2) 2,500 {3) 1,500 (4) 3,500 () fon e fimrerd = wige 370

TR & Ty A e & e e e &7

(1) #iffm g g5 A vee feem e & o #

(2) w2 e e R o T &

(3) =m @ wee B O ) FaeR o2 B O & ol T Eene o e W o 8
(4) it Rerem o geam S W o

(8) Fm R o oieas o=y

Pt A A R A A e e d 7

(1) ww-2a= & fom avans seErl w6 ge 5 A amet Seee s

(2) fw-de= & o aros Bt & gon o anaie Ra (3) grafs wm s=its g amy o
{4) areafs wm awits R . (5) fn o Bl o e =
Feidds e dom i e ?

(1) B s (2) & siregre (@) e =

(4] driafd = (5) fmm At o e 3=

U FiteeT oW orTE Sl & o

(1) Rftr s v s & BFER B @ § {2) o e o we § RAF g ow §
() Fifte s wt v o RFRFER g o # (4) few o ofteef oo & wg ol @

(5) By Pt o greaw o0

2R e 7

(1) R (2] anf-uRed = (3) ofexd arm

(4) =i = (5) fnm e o oheem aFg

T et e @ P | @ o oo e wn A 7
(1) odm (2) =i {a) == are (4) Aead (5) Sware fifmra R

H NI A IueE T 3R S TR S A A s e a a0 s o g )

(1) o giee {2) TFomEe (3) ot o S

(4) sifeh (5) v m B #t v o

T T e A e o ) ke o Aol shtmt 6t o AR R

(1) ffiEE s o den (2) arifen hea (a) amfms gim

(4] vt gions] (5) By m Rwad o dhyem =g

AR o g SR e E A me v

(1) wivedm o wedie & am R = (2) F13 v TR & TR Tk A

(3) wuEeE g & R HiEe (4) 0 wieefe 1 win T 5 FUEeEE o W
(5) fm m Bed o oimaw o

givard oma O En d o S R

(1) ®i ghe M gy O 2N AR B o d (2) i e 3 ey oRakiE w2
(3} Am o FdR e (4) % = Prfy amedl &

(5] Ruw Bred & diga =

D 6 D



Q.22

Q.23

.24,

Q.25
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.27,

Q.28.

.29,

Q.30.

Q.31.

.32,

.33,

Which one of the fallowing items 2 not required in the final audit repart 7
1) Typa of audit conducied

12} Characteristic of audit

(3) hdentification of involved parties, auditor, audites and the third party
14} Audit standards and refarence documents used

15y Determination of proper corrective actians

' Lid. has sales revenue of T 2,000, Depreciation for the period is ¥ 3,000, Other operating expenses
ara £900. Net loss for the period is ¥ 500. What is the amount of funds generated from operation during
the period by X" Ltd. 7 {in¥)

{1} 1,400 2) 2500 (2} 1,500 (4}3,500 §5) Other than those given as options

As regards to computerization which one of the following statement is ‘False” 7

{1) System design |s done befare coding starts

{2) A database can be defined as an organized collection of information

{3) Corruption of data may shut down the whole system and destroy the complete database
(4] Evaluation of clerical system was tha final phase

(51 Other than those givan as options

Which of the following describes the margin of safety 7

(1) Actual contribution margin achieved compared with that required to break-aven
(2} Actual sales compared with sales required fo break-even

(3} Actual versus budgeted net profit margin

[4) Actual versus budgeted sales

{5) Cther than those given as options

Which one of the following is not a Curmant Lisbility 7
{1) Sundry creditors (2} Bank Overdraft (3) Cutstanding Expenses
{4) Long-term Loan (5} Other than those given as options

Process costing is applied when

{1) small number of differant praducts are manufaciured
(2} large number of identical products ane manufactured
(3) large number of different producis are manufaclured
i4) fixed costs exceed varigble cost

(5} other than those given as options

Telephane charges s a

(1} fixed cost (2) seml-variable cost {3) wariabla cost

{4} marginal cost {5) Other than those given as options

Which of the following components are excluded from the computerized accounting system 7
{1) Hardware (2} Softwere {3) Human Capabilities
{#) Network (5} Accounting Policy Guidelines

The ———— is also expecled lo provide the resources needed and select staff members to acocompany
the auditors 7
(1) auditer () client (3} Internal suditor  {4) auditee (5} other then those given as options

Audit is fact finding process that compares actual results with
(1) Specified standards and plans {2} Expected results {3) Premature resuils
(4} Praliminary results (5} Other than those glven as options

Which ane of the following is first step in the computerisation process 7
(1} Recording with software or spraad shaats

(&) Classifying with codes and software

(3} Summarizing by using compéiation tools

(4} Consalidation compilation using Tally or spread shoests

{5} Other than those given as options

Varlable costs ara thosa which

{1) are directly apportioned to cost unit or cost centre (2} varies directly with prodizction
(3) depends upon the demand (4) depends upon the saje

(3) other than those given as options

R 125634 D7 D
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44,

Q.45

When ks a trader forced fo sell even below its varlable cast 7

(1) To beat his rival (2} Toincreéase business
(3] Toforce the supplier o reduce price (4} To teduce taxes

(%) To getrid of perishable goods

What is the comrect sequence of the fallowing stages 7

(A Statory Audil (B) Internal Audit {C) Intermal Check

(1) (A}, (B (C) (2) (B}, (C). &) (3] Cher than those glven as aplions
{4) (C). (A), (B) {5) (C) (B), (A)

The auditor of a Government Company |s appointed by

(1) the shareholders (2) the Board of Diractors

(3) the Gomptroller and Auditor — Geners! of India I4) High court

I5) Ceantral Govemment

Which ona of the following methods of selecting sample ensures that all items in the population have an
equal chance of selection ?

{1} Random selaction (2) Directed selaction (1) Haphazard selection

(4} Block selection 15} Purposive selection

Under Companies Act a private Lid. Company Is deemed to be public Ltd, on its average consecutive
threa years furnover being ———
{11 1 Crare 2} & Crores (3} 4 Crores (4} 3 Crores (5) 10 Crores

Financial statements need not be prepared in accordance with

{1) relevant statutory requirements

(2] accounting standards issued by the mstitute of Chartered Accountants of India
{3} guidance Noles issued by the Insfitute of Charlerad Accountants of India

(4] Internal Accounting Policy of the Company

(5} report of external agency on accounting standards

A nationalized bank in India opens a current account with Bank of America in New Yark for its day to day
business transactions in US dollars. It will be known as which of the fallowing accounts 7

(1) ‘“ostro Account {2) Mostra Account {3) Loso Aceaunt

(4} Escrow Account {5) Other than those givaen as options

The first shareholders of a company are appainted

(1} by the shareholders in thalr first masting to be held within 30 days of the incorporation of the company

(2} by the directors within 30 days of their meeting held after lhe Incorporation of the company

(3} by the directors in the first meeting of the Board of Directors o be held within 30 days of the
Incorparation of the company

(4} through the eppointment clause in the mamorzndum of assocization

{%} other than those given as options

Which one of the following isan ttem of Capital Expenditure 7
{1} Instzllation charges {2) Salary o staff {3) Travelling axpenses
{4) Reguiar maintenance charges (5) Other than those given as options

While selecting operational cost of the branches of a bank which is the most suitable of the averages 7
(1) Made (2} Median {3) Mean (4} Quariles (5} Ranpe

If ihe financial stalements are prepared as per the financial reporting framework, the auditor gives the
opinlon that the financlal statarments

11} ara true and correct (2] are fairly correct 13} are cormect and fair

(4] give ‘atrue and fair view' {5) are reliable

Auditis 3 ——— fumction,

(1) contral {2) monitoring {31 supervising (4} planning (5} compliznce
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H.44.,

H.aT.

H.48.

H.48.

H.50.

H.81.

H.52.

H.53.

H.54.

H.35.

AS - 6 & IR, 9 JrOE o AEgH o @ B 4§ gReds B o ———
(1) o9 R agen &

(2) S oRE S A AR R e B

(3) = B R & deee dorl 2 oot

{a) o s R £ dees v & oot

{5) Ty e By

Hifde wraie &t e 9 weeh § Siecy & e @ e A @ e sA m e # 7

(1) BA - 210 (wHifEm) {2) SA-330 (3) SA—-T00

(4) SA-T05 (5) fu o R ) Stomw o=y

et & we e & e @ EE o TR & # = et @

(1) Regin & 37 @ oo (2) 9 (aifwe) & 32 & oo e

(3) wR o (aeameieT) 3 & o o {4) g g & o e

(5) ol g2 o um e

g oo & A O SR s A ol oee Sn-adem % WERET TR |

(1) dgewiri@m ey (2) = (3) giFm w o

(4) T {8) W Nk

i dagh o w27 ;

(1) o aden e fawof o dowt sl o v o & o e #

(2) oo o 0 an waehaw anawe i & o Rl B T & T SE O &

(3) AS— 1 IFFW, TETET T MW (TS ) T Ve W A, =08 g o e

(4) s, o ohe & o T g g #

(5} Bnmw fwed 7 vEw g

- @ S 4 B A @ e o Rl R o amh k7

(1) gof & o= oo &t g awen {2) @ i e & s o7 B R & 3§ o e
(3) Foee o W B {4) afeal $ effedr 5 R T g e

(5) By Beed o sigaw arg

e e el 2 i amn w8, o e vl (B ) & e e i sree s i o sinfn & o e ¢

(1) 14 (2) 15 fa) 21 {4) 3o (5) 80
P8 @ 79 o el & e i e o oeehed Sl o B 7
(1) w2 T = o o (2) s ¥ R e s welt o it

(3) feh = dum & e g avd ol v i (4) =wi & fow wEEF we w78 o
(8) =% & Fom-Tem & wen giay f g

a2 i Pafte ae® & gee) s vl & Ry o o @ @ S witfom & om 224 (s) & s gam
RS & A 7

(1) oM ¥ weed srr P & ot

(2) S fi e e $ s it

(3) Feed & G fdm dees & s at

(4) wEwd an GM 3 T Hieg IR e P & ot

(8) Ry w B o S W9

=it 18 e cr-orden sl Tl o2 Bew Hifn )

(A) Srm-ghs @ ger qFEE g (B) wil aiR S &1 S Ee

{C) el & sy awen (D) T FriET 3OW F

e el St s g B 7

(1) 1A} (B, (C), (D) (2} {By, (A), (C) (D) {3) (A) (D), (C) (B}
{2) (A) (D) (B). (C} (5} {A). (C). (D), (B)

|R 125534' D 10 D



.46,

Q.47.

.48,

.49,

Q.50.

€152,

Q.53

0.54.

.55,

444

As per AS -6, when a change in the mathod of providing deprecistion would be made 7
(1) As required by the status

{2) As required for compliance with an accounting standard

(3} Resulls ina beller praparation of the financial siatements

(4} Hesulis ina better presentation of the financial stalements

(5} All the aptions given

Which one of the following SA deals with the auditor’s responsibilities in agreeing the lerms of audit
engagement 2

(1) SA - 210 (revised) (2) SA—330 {3) SA =700

(4) S5A-T05 (5} Other than those ghwen as oplions

Checking serial number of vouchers during vouching helps the auditor to
{1) detect arrors of principle (2} detact errors of omission (3) delact campansating ermars

(4) detect intenfional erors (5} detect exlarnal errors

Chacking the amount in words during vouching of cash transactions hedps the auditor 1o

(1) detect errors of principle {2) emors of commission (3} detect misappropriation
{4) errors of omissian {5} sysiemic emars

Which one of the following is True' 7

(1) Auditor is respensible for prevention and detection of misstalements

{2) Disclosure of accounting policy, which is adopled in preparation of financial statements is not required

(A) A= per AS5-1, disclosure of fundamental accounting assumption & nesded, whether these are
folfowed or nat. f

(4} Sampling is & mgjor inherent limitation of audit

(5} Other than those given as options

In preparation for an Audll, which one of the fallowing activity falls under Routina chacking 7
{1) Examining lessthan whole popuiation

{2} To form an opinion on financial statements on the basls of selected ilems anly

{3} Judgemental or statistical device

{4} Ensuring arithmedical accuracy in-entries in books

(5) Orther than those given as options

In case of dividend declared but remaining unpaild, what |s the period (in days), within which suich
dividend should be transferred 1o unpaid dividend account 7
(1) 14 (2) 15 {3} 21 45 30 {5) 90

Which one of the following does not gualify &s an item of "Provision' 7
(1) anamount written off

{2) an amount retained by way of providing for depreciation

(3) an amounl refained by way of providing for any known Habsdlity

(4] an amount retained by way of providing for taxes

(5) forex loss dua (o rate fluctuation

In case thers is a failure of Board to appoint first Auditor within the stipulated perod, what can be the
consequences under Section 224(s) of Companies Act ?

(1) Appointment shall be made by members in GM

(2} The appointmant requires 2n ordinary resoiution

I3} The appointrment reguires a special resolution

(4) Appointment shall be made by members in GM by passing an ordinary resolution

{8} Other than those glven as options

Consider the stages in audit given balow

{A) Ascertain type of audit {B) Vouch receipts and payments

{C) Obtain documents from clients (D) Prepare Audit Programme

What is the correct sequence of the above stages 7

(1) (A), (B), (C}, (D) (2) (B). (A}, (C), (D) {3) (A). (D), (C) (B)
() (A (D), (B), (C) (5) (A). (). (D), (B)
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H.56,

HET.

H.58.

U.58.

H.80,

w82,

H.63.

H.64,

ot A & fe e ol Tl & o RS S ST O O 5 SR S E 7

(1) efEmay  (2) Ffts o (3) T (4) gl (8] Bl

L (e ST SR B awE E |

(1) o (2} e i can-ode (4] fm o el ot BiEER 3
(4) wE e (8] de-wiem ok e e

-t ) TR S TR O S e Wi o e & g T B i e A

(1) weRd & e o aveiEE FEr (2) e gwr o e T 9 o W
(3) Tl A ot wr o ol SwR =T 4R (4) oo & gft A e o S o AR

(5) fag o R 1 oieaw oy

Ereffen 4 @ o @ e e 7

(1) o 3 ol o R o o A WRR A e o R A T E

f2) mmﬁﬁmaﬁmﬁﬁ@ﬂmaﬁﬁﬂﬁﬁnﬁﬁﬁﬂmqﬁmmqﬂﬁwt
(3) e i & it et S e o R AR T e e R s

(&) Hmifae T o e a Fe H

(6) R m Rmed o wiEEw 3D

Presfaien & & o e B 7

(1) e den-wis £ P s 4 9w e e o W sl
(2) am i i v @t ROC & iy & ot 2

(3) AGM @ S w5 R B & o B e T W e g
(4) R S-S R oo a1 i e

(5) fam m fawd & sl 30

el = .
(1) el o s T A e v e B i e ) e o & e 2
(2) el e 3 s ) e o e B g B o e et ol ) A B
() o e 3 e ) et o e T e e B o v Fh of 9 e
{4) R ad & 7 o a0 B e ogn # o f a9 e g
(5] B m et w v 35U

et & & o W s WA R T

(1) Sy sdie Ten o 4 1 B Wity wif o el we d

(2) wran-oden i el & et & i o ot gl & s o e e @

(a) Sr—ie Rl e i i et 4 ol e seiE

(&) ﬁiﬁ#ﬁﬁmﬂmmﬂwﬁmmmﬁmﬂmﬂﬁmmaﬁqmﬁmmw
S o g & B s A T A

(5] oy Reedl = v 3

Psfies 3 9 #s W F we E 7

(1) s Y e - o -t & R @ < et < R s e

(2] ﬁﬂhmﬁm&lmmﬁmdmﬂﬁﬂmm%mmwﬂwrmmmmw
T FEER] T g

(3} #m—u?wﬁrﬂﬁmmﬂmﬁﬂmﬁmﬂmmﬁmqﬂwmﬁﬁnma&q

(4) o o s R SR dve 4 S il v et w8 e

(5) fum B @ G

orr S S oe it a5 e 3 e 1 S T e & e R

(1) SF-8 W (2) om-2 & dam (3) sm-d o

{4) BF-o7 & el (5) fg e e @ elEan o
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£1.56.

Q5T

Q.58.

Q.59

.60,

Q.61.

CLEZ.

.63,

Q.64.

Which one of the fallowing involves depasiting the fitle deeds of the propaty with the lender as sacurity 7

1) Equitable morigage (2) Legal morigage (3} Assignmeant

i4) Hypolhecation (5) Pledne

Audit Programme is prepared by

{1} the chent (2] the chent and the auditor (3) Other than those given as options

[4) the chief accountant  (5) the audilor and his assistants

Auditor should verify stocks which are nol lying with the concern e.g. goods on consignment
(1) through physical verification at consignee's godown

(2} through observing the physical verification carried out by the consignes

(3) by obtaining and examining the confirmation from the consignee

(4} by obtaining and examining the confirmation from the censignar

{5) other than those given as optians

Which ona of the following statement is ‘False’ 7
{1] Posfing & correct amount in ihe wrong account an correct side does not affect the Trial Balance
{2) Corract recarding in the Journal Proper but not posted in the ledger at all will not affect the
Trial Balance
(3) Correct recarding in the Cash Book but not posted In the ledger will affect the Trial Balance
(4) Errors of principle will affect the Trizl Balance
(5) Cther than thosa given as oplions

Which one of the following is "True' 7

(1} First Auditar can be appointed by Inciusion of their names in Article
{2) Subseguent auditor needs to give notice 1o ROG

{(3) WAGM is not held in tme auditor aulomatically vacates his office
{4) Remuneration of branch auditor is fixed by the Statutory Auditors
{5} Other than those given as options

Prior period expensas are

(1) expenses credited to the current year profit and loss account, though relafing to earer year
{2} expenses debited to the current year's profit and loss account, though refating o next year

(3} expenses debited to the cumant year's profit and loss account, though relating to earier years
{4} expenses debited o the previous year's profit and loss account, though relating to current year
{5) oiher than those given &5 options

Which one of the lallowing statement Is True' 7

(1) An Audit Programme should nel be in writing as It Is confidential

{2} An Audit Programme serves as an evidence of a true and fair view of the stale of affairs of the COMPENY

(3] An Audit Programme shows the programme for preparation of financlal staterments of the company

14} Dhstribution of duties 1o audit staff for checking of scocounts must be made in consullation with the
management of the company so that they work together to complete the audit in time

{5} Cither than those giver as options

Which ona of the following slatement is True' 7

{1} Audit plans once developed should never be revised during the course of audit

() After the auditor discusses his overall plan with the client, the overall audit plan and audit PrOQrEmme
becomas their joint responsitility

(3) Auditor should develop a Standard Audit Programme applicable to all audite parmanently

{4) An auditor cannol have any Lien on the books of accounts of the company audited by him

(9} Other than those given as options

Verifying the signature of the authorized official on the voucher during vouching helps the auditor to check
e —

(1) occurrence of the transaction (2) validity of the transaction (3) amount of the transaction

{4} period of frensaction 4} pther than those given as options

D 13 D



H.65.

.86,

H.67.

H.e8.

W.a8.

"7,

HT1,

m.TL

H.7A.

H.T4.

H.75.

H.78.

H.TT.

n.ra.

s s & aferla syl & g dem Am e ?

(1) 210 (2) 288 (3) 23 (4) 17 {8) 14

T ad S g o e B B SR R

(1) Pt (2) aefr o {3) fome o (4) == (5) Freren anf-ad
U N SR T W T PR A o AR S R

(1) T ww {2} ¥ dwm (3] #4892 {4) fam s (5) = e wFf
firareht Rl am o sftFm & sl et ——— Prafof 2 0

(1) =fEy (2) & wrgee (3) it mitaRn

(4) gy =il =iy (8] awell

w5 HUF 7 g # &

(1) Himdu United Family (2] Hindu Union Family (3} Hindu Undivided Family
{4) Hindu Uniform Family (5) fEum R =it whee

et it i e o e g @ Frfafien g e o ol wmee ol |

{1) arwEw A aw (2) #F-2a 9% e

(3) wfddi 4 oA 4 e {4) ik, s, SF-sifem o mees o T

(5) B m Bred o oheam 3

e & AfFE 1 o & P B w o =
(1) wik fioem fere 25% o e 8 (2) wetv Ao ferem 50% e e 2
(3) =ik Ao Rerer 75% W 3 E (4) wir e e oo ol appm 2
(5) wir Roe Reen agw A8 8

e afftiems & w3 B e o g e R # 2

(1) =R & F9dm ¥ g e e {2) e -

(3) =Fm eaft (4) =g o e & A i e 8 e
(5) R m Reek ot Breew w7

o § 3 B ol wriieR o o e o, <, aelns o afiteR A HadrfnmoEd
(1) &% o (2) aFa % (3) Fwm am
(4) % i o ol & wm (5) xR @ e 3y

Fm T el ¥ ae e a9 w2 b o i et
{1) =afed (2) #= W {3) PR (4) Fomz (5) R w1 i o=

ot ' o e & 1R e 2011 91 v S o B R 10 SR 2012 T wRm SR AR |t o
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(1) Pt (2) sFmeit (3) P siy weeg Pl

(4) Frawd g oo Boel a8 (5) By mw e o oiemm 37

R o {*o00) & wften 8 v o 2 & B smew mavd 2 1
{1) & (2} 10 (3} s0 (4) 100 (5) 600
o e O 45 & oea reR B
(1) i st (2) = e (3} =
(4) s s (5) g m Bwe ot BiEaw 57T
i 3fevo & oo ey den
(1) ani= (2) Bwf R aEs e (3) dofe anfes
(4) = g w9 (5) T e fwwd & Sy &
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.65,

0GB,

Q.67.

C1.68.

CLES.

Q.70.

QT

Qrz

.73,

.74,

Q.75.

Q.76.

Q.78

What are he total number of schedules under the Income Tax Act 7

{1) 310 2) 258 {3) 23 4y 17 (&) 14
The financial year in which income is earned is called as the .

(1) Assessment Year {2) Prezent Year (3) Previous Year
(4) Currant Yaar {51 Last Hall Year

The constitution of India empowers ———— to levy tax on incame

(1} State Government 12} Cenfral Govarnment {3) Parliameant

(4} Finance Bill 19} Public Accounts Committea

Shivajl University 1s assessable under the Income Tax Act as

{11 an indhvidual {2} sole propriator (3) alocal authorty

{4) an artificial juridical person  (5) a company
The term HUF stands for

(1} Hindu United Family {2) Hindu Union Family (3} Hindu Undivided Family
(4} Hindu Uniform Family {5} Other than those given as oplions

The following points should be noted or checked by the auditor in verification of an assat 7

{1) Chacking the vouchar (2) Checking the transaclion

(3] Checking the entry in the bocks  (4) Checking existence, wanership, non-omission and disclosure
{5} Oiher than those glven as aptions

Capital Expenditure incurred on repairs of factory building is
(1) allowed a3 business deduction upto 25 percent

(2} allowed as business deduction upto 50 percent

(3) allowed a5 business deduction upto 75 percant

(4] total amount is allowed as business deduction

{5) not aliowed as business daduction

Which asset is not treated as Capital asset for capital gain purposes 7

{1) Motor car for business use (2) Jewellary

{3) Houss property {4) Piant and machinary heid as stock-in-trade
(9} Other tham those given as oolions

Satary, bonus, commission or remuneration due lo or received by a working pariner from the firm is
faxable under the Head i

{1} Income from salaries {2) iher sources

(3] Business incoma {4) Income from salanes and Other sources
(5] CHher than those given as options

A person by wham any tax is payable under the Income Tax Act is called as
(1) Individual (2] Tax Recaiver (3) Assessee
(4} Client (5) Other than those given as options

Mr. A who was abroad returned to India on 15t July 2011 and again left India on 10th January 2012,
What is his residential status for the assessment year 2012-13 7

{1) Resident (2) Mon-Residant

{3 Resident and ordinary resident (4) Raesident but not ordinarily resident

(5) Other than those given as options

Any amount received in excess of ¥ ———— ("000), without consideration is chargeable to Income Tax.

(1) 5 {2} 10 (3) 50 (4) 100 (5) 500
are chargeable under Saction 45 of Income Tax Act,

(1) Capital Gains (2) Profil and Gains (3) Dlwvidend

{4} Valuntary contribution |5} Other than those given as oplions

Capital gain arises from the transter of i

(1) an asset (2} any fixed asseat (3) & capital assel

(4] house property anly {8) Other than those given as options
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H.7e.

H.B80.

H.B1,

H.B2.

H.83.

H.B4.

H.88.

H.BE6.

H.87.

w.89,

H.90.

) = & we A, o @ oEftE o e o A o O P ) e o 2
(1) sl Bl & T O O T S A e (2) Pt & gin ois o SER & 6 o A
(3) welpn el & o oE AWl "EE o 7oA e (a) Pl & gim o o =ER a7 o s
(5] wiw PR ¥ A ee g e 2s ST A

o s 1097 2011 2 ) oRER @R A ALY 2012-13 0 By emad em @ 2
(1) 1 == 201293191 2013 {2) 1097 20129 31 9 2013

{3} 1% 2011 % a1 = 2012 (4) R m B o viees
(8} 1097 2011 % 31 9% 2012

i A afifr & Pefie d @ fF F o g of Foie el A Aed ey f sm s dm it & 7
(1) =@ 6 (2) uri s (3) mm7 (4) Brm e o erem o {5} T8

=W —

(1) & TEER SR GFIRN T O W AW & (2} Tre TE TRT TR R G S g
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e e mE wet & |
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IR e T e &
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Q.79

.80,

.81,

.82

.83,

.84,

.85,

.86

Q.87.

C.B8,

.89,

LA,

Dua date of payment of service tax other than for the month of March, in case of a company is
{1) 5th day of the month immediately following each quarter

12) 5th day ofthe month immediately following the quarter

{3) Tih day of the manth immediately following each quarter

{4} 7th day of the month immediately lollowing the quarter

(5] 25th day of the month mmediately following each guarlar

Mr. Rajendra set up & new business on 10th June 2011. What is the previous year for the &Y, 2012-13 7
(1) 1stApril 2012 10 315t March 2012 (2] 10th June 2012 to 31st March 2013

(3} 1etApnl 2011 to 31st March 2012 (4] Ciher than those given as options

(3} 1M June 2091 to 31st March 2012

Which one of the following Sections of Income Tax Act determines the year in which Dividend Income is
faxatle 7

{1] Section 5 (2) Section § {3) Section ¥
{4) Other than those glven as aplions (5) Sectlon &
Service Tax is

1) adirect tax levied by the Central Government
(2) an indirect tax levied by the State Govarnment
(3} &n indirect fax ievied by the Central Govermnment
(4) adirect lax levied by the State Govermimen!

(8) Other than those given as oplions

Conversion of capital asset into stock-in-trade will result into capital gain of the previous year
(1} In which such conversion took place

{2} In which such converted asset is soid or atherwise transferrad

{3} In which such converted asset was purchased

{4} Inwhich such converled asset was leased

(5] Cither than those given as options

The Life Insurance Policy taken by the person on the iife of another person, whe is connected and key to
the business as employes |5 called ———
(1) Key LIC Policy {2} Key Man Insurance Policy (3) Key Insurance Palicy

{4) Emploved Insuranca {6} Cther than those given as aptions
Diapraciation is allowed in case of
(1) Tangible fived assels anly {2) Intanaible assels only (3} Tangible and intangible assats

(4} Miscellaneous Assets only {8) Quick Assels

[noome Tax ks .a tax an
(1) Income {2) Profit (3) Turnowver
(4} Expenditure (5} Other than thase given as oplions

Interest on capital on loan received by & partner from a firm Is

{1) exampt under Saction 10 (24) (2} exempt under Section 10 (AA)

(3) taxable as business and professian income (4} t@xable as income from ‘other sources’
{5) Other than thase given as options

income under the head 'Incame from other sources’ i taxable aa

(1) due basks (2} receipt basis

(3) the basis of mathod of accounting regulady employed by the assezses

i4) accrual basis (8} soccrued basis

Service Tax Law s governed by ——

(1} The Income Tax Act {2} The Service Tax Act

{3} The Excise Act {4) Otner than those given &s oplions

|5) Chapler ¥ of the Finance Act, 1954

Return of Sesvice Tax has fo be filed
{1} manthly 12} quarterly {3) nalf vearly
{4} yearly 18} Other than those given as cptions
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Which i1s based on time value concept of maney 7

(1) Pay back (2} Accounting Rate

(3} Awverage annual accounting rate {4) Other than those given as options
(5) IRR

In & production process two products of egual importance are baing produced, these are
(1) Joirt product (2) By-produc (3} Co-product

(4) Independent product (5] Oiher than thosa given as options

Entertainment allowance in case of governmeant employes is

(1} fully axempt

{2} fully taxable

{3) exempt upto certaln limits mentioned in Section (i) of Income Tax Act

{4) Othar than those given as options

(5) firstincluded in full In gross salary and (hereafter deduction allowed from gross salary under
Secton 16{if) subpct to certain parameters

In case of Goods Transport Agency, the service tax an freight is payable

{1) Always by the consignor {2) Always by the consignee

(3] Abways by the Goods Transport Agency {4) Other than those given as opllons
(5) by the consignorconsignae, who is making payment towards fraight

Minar’'s income, which is clubbed with that of his parent is exempted uplo ——

(1) ¥ 2,500 par minor child {2) T 2,000 per minor child {3) T 1,500 per minor child
(4) T 1,300 par mingr child {5) Oiner than those given as options

Leave salary received during the period of service is ———

(1) Exempt LIS 10 [1044) {2) Exempt U/S 10 (10CC)

{3) Exemnpt UIS 10 (10A) (4) Other than those given as options

{5} Taxable

Which is correct 7 A willful default takes place because of ——

{1} Clients losses dus 1o lack of demand (2} Lack of good pricing

(3) Gowi. price control (4) Costs control being slack

{5) Management attilude

Which one of the following Sections of Income Tax Act states the amount not deductible in computing
income chargeabla under the head, ‘Income from House Proparty” 7

(1) Section 23 {2) Saction 24 {3} Section 25

(4) Section 26 {5} Other than those given as options

Which of these commands highast value 7

(1) Waste 12) OF-cuts {3) Spoils (4) Scraps (5) Defeclives
Angle of incidence in Marginal costing refers to

(1} Rale al which contribution is earned (2] Rate of revenue eamed

[3) Rate of cost incurence {4) Safety anghe for a firm

{5} Other than those given as options
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TEST |
GENERAL AWARENESS & GENERAL ENGLISH

Which of the following was a princely state ruled by Rajputs prior to becoming a parl of present Rajasthan 7

(1} Kapurthala (2} Mansa () Sangrur {4} Taran Taran {5} Udalpur
Which of the following i NOT grown in Rajasthan on a commercigl basis 7

{1} Cotton (2} Paddy (3) Tea {4) Wheal (5] Millet
Which of the following is the unit of the loudness of sound ?

(1) Dyne (2} Dechal (3} Joule {4 Erg {5) Knot
Famous Haldi Ghati Batile was fought befween Maharana Pratap and —————

(1) Akbar {2) Baber {3) Jahangir (4) Nadir Shan (5) Shershah Surl
Which of the following States does not make the boundary of Rajasthan 7

(1) Uttar Pradesh {2} Punjab (3] Gujarat (4) Maharashira (5} Haryana
Which of the following i= one of the dialects spoken in Rajasthan 7

{1} Bundel Khandi (2) Awadhi (3) Marwari (4} Bagheli {5} Baiswan

The Copper plant In Rajasthan is situsted in which of the following places 7
{1) Rawatbhata (2} Bhakhrola (2} Khetri Magar  {4) Chanderia (5] Badmer

Which of the following cities is NOT in Rajasthan 7

(1) Jalora 12} Jetandhar * {3} Karaull {4y Sikar (%) Sirohi
Who amang (ne following was never Chiel Minister of Rajasthan 7

{1} Mohanial Sukhadia {2) Hari Dev Joshi 13) Shiv Charan Mathur

(4) Mayawat| {5) Jal Marayan Vyas

Which of the following Awards is given for excellance in he field of Literature of Indian languages 7
{1} Kalidas Samman {2} Jamnalzl Bajaj Award (3} Tamsan Samman

{4} Arjuna Award (5} Sarpawatl Samman

If you are travelling from Agra to Jaipur by & State Bus or car directly, you will certainty pass: through ———
(1) Ratlam (2) Hota (3) Bharatpur (4) Jaisalmer (5] Jodhpur
Who amang the following Is a well known Cricket player of International repute ¥

(1) Gagan Marang (2} Pankay Adveni {3) Suzhil Kumar

14} Gaudtam Gambhir {3) Mahesh Bhupathi

Zing Smelter piant in Rejasthan i3 located in

(1) Debar (2] Bharatpur {3) Bundl (4} Ajmer (8) dhunjhunu
Famaous.'Hawa Mahal' is located in the city of

{1} Udsipur (2) Kala {3) Jaipur (4} Magaur (5} Tank
Famaus Karnl Mata Temple s situatad in which of the fallowing districts of Rajasthan 7

(1) Bikaner 2) Bharalpur (3} Jalpur

{4) Sri Ganga Magar (5} Hota

Wha among the following is NOT a famous author 7

(1) Mohan Rakesh {2} Sushma Swaraj {3) Amit Choudhury

14) Chelan Bhagal {5] Kiran Desaj

Annual Urs of which of the following holy Shrine |s celebrated in Rajasthan 7

(1) Khwala Mainuddin Chisti {2) Haji Ali {3) Haji Malang

4} Salim Chisti {5) Deva Sharif

Maharani Gayatri Devi was the Rajmala of the rulers af

{1} Bharatpur (2] Jaipur 13] Bikaner 4} Ganga Magar (5]} Ldaipur
Which of the following is a popular tood dish of Rajasthan 7

{1} Bheiputl {2) Dalbati Churma (3} Masala Dosa 4 Jhatmud (5} Liappa
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A bronze statue of which ancient king is installed In Padiament House 7

(1) KingAshoka {2) Maharaja Rana Pratap (3} Samudragupta Morya
{4} Chendragupla Morya {5} Samrat Bharat

I the Index of Industrial Production (IIP), which sector accounts far majar porien 7

{1) Capital Goods sector (2) Mininig sectar (3] Manufacturing Sectar
{#) Eledlricity sector (@) Petroleun secior

The International Benchmark LIBOR is set by

1) Bank of England (2] Federal Reserve of US (3 Evropean Central Bank

(4} British Bankers' Association  (5) Bank of England & European Central Bank Jainlly
Who is the CEQ of PepsiCo Inc USA 7

(1) Chanda Kochar {2} Meg Whitman {3} Indra Nooyi

{4) Mary Kay Ash (5} Catherine Elizabeth

Who is called as ‘Mikman of India’ 7

{1) Verghese Jacob (2} Verghese Kurien (31 Mathew Kurien

(4] Kurien Abraham {5} Verghese John

0P stands for

(1} Grand Direct Purchase 12) Gross Domestic Purchasa (3} Gross Domestic Product

(4} Great Domeslic Purchase 15) Gross Domestic Produce
Which s the most populous democracy in the Warld 7

(1) Ching (2} Pakistan {3) United Kingdom

{#) India (5} United States of Amarica

Which of the follewing was the most favourite game of Maharaja Man Singh of Jaigur 7

{1} Palo {2] Cricket {3) Badmintan (4} Chess {8) Hockey
There are —— disiricts In Rajasthan.

{1} 32 (2y 33 (3) 34 (4} 30 {5) 35
Eastern Rajasthan has the world famous Heritage Site calfed

{1] Keoladeo Matianal Park {2} Lion Sanctuary {3) Tiger Park

(4] Peacock Sarden (5} Black Deer Park

Which is the larpesi city of Rajasthan 7

1) Jaisaimer {2) Banswars {3} Udaipur (4} Jaipur [5) Bhitwara
Who amongst the following 15 NOT a memberof the 3-8 7

{1}y UsSA 2] France {3) South Africa ) laly {5) Garmany

Multi-city chaques issued by the Banks are

{1) Payable at all Bank Branches othar than Base Branch

{2) Collectible at par at any of the Bank branches (37 Payable anly at ihe Base Branch
(4) Payable at par at any of the Bank branchas {5) Callectible a1 tha Base Branch only

Who is thi present Managing Director of IMF 7
(1) Chrisfine Lagarde {2) Dominigue Strauss Kakn (4) Rodrigo Rata
(4} Horat Kohlar {5 Michel Camdessus

A credit card allaws the helder to
{1} Usa the card within the balance avaiigbie in his sccount

{2) Use the card within the limit provided by the bank {3} Draw only cash from the bank
{4) Use tha card withoul any upger limit {5) Use only for funds transfer
Which is the largest siate of the Republic of India by area 7

(1) Uttar Pradesh (£} Madhya Pradesh (3 Uttaranchal

14} Rajasthan {3} Binar

Who is the present Chief Econamic Advisor in the Ministry af Finance 7

(1} Dir. Kaushik Basu {2) Dr Amartya Sen (3} Dr. Raja Chelliah

{4} Dr. C, Rangarajan {5 Dr. Raghuram G. Rajzn
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Putting funds in a term deposit in & bank is an exampla of

{1} Speculation {2} Gambling {3} Hedging (4) Trading [5) Investng
Which one of the following is not the name of a Porl 7

{1] Vizag {2} Channai {3) Mew Parval 4] Kandia [5) Mumbai
When we receive the paymeant of our goods’services in US Dollars, this s catled

{1] Barter Trade (2} Domestic Trade {3) Wholesale Trada

{#] Retail Trade (5} Fareign Trade

Full form of term “FII™ which is much talked about in the Financial World these days is

(1) Financing Indian Investment (2} Finanoing Indian Invesions

(3} Finanoing Indian Institutions {4} Fimancing Institutional Investors

{3) Forexgn Instilutional Investors
The authority 1o ssue Bank notes Is conferred upon

(1) Reserve Bank of India {2} Currency Nole Press, Nasik
3} Government of India, Ministry of Finance {4) State Bank of India
(5] World bank

Banking Ombudsman Schama has basn framed o

(1) resolve Dispules between Banks

(2} resalve Disputes between employees and emplayer in a Bank
13} resalve Disputes between Indian and Foraign Banks

(4} resolve Dispuies between Public Authorities and Ceniral Bank
(5} resolve Dispules between cuslomars and Banks

One of the major Himalayan-ongin river thiat substaniaily flow through India s

(1} Brahmaputra {2} Memada (3 Kosl (4} Godavar (5] Kaver
Reserva Bank of Indla runs a Monatary Museum in

(1} Delnl (2) Pune (3 Nagpur {4} Mumbai (5) Baroda
"Beyond Survival: Emerging Dimensions of Indian Economy”™ book was written by ——

{1} Dr. Manmahan Singh {2) Sonia Gandhi (3} Pranab Mukbaree

{4} D.B. Subbarag (5) Alal Bihan Vajpa

Who fed the indepéndence movemant of India through ‘Mon Violence Movement' 7

{1} Mahatma Gandhi (2} Jawaharlal Nehru {3} Sardar Valiabh Bhai Patal
{4} Subhash Chandra Bose {5} Acharya Kriplani

After you have completed your transaction, you may leave the ATM roam anly after
{1} Money has bean dispansad

{2} Statement of Account has been receied

{3) "Please Collect Your Cash” is displayed on the screan

{#) pressing “No™ to the query "Cho you want to make another Transaction”

{2) Home Page appears on the monitor

KYC procedure for customers is followed by Banks in order to establish

{1) Credibility of the cusiomer (2) Market Repulation of the customer
i3] Financial Viability of the customer (4} Financkal Integeity of the customer
13) ldentity of the cusiomas

Which of the following terms |s used in the gama of Celckal 7

(1) Love {2) LBW {3) Haff Nelson
i4) Back Hand Drive {5) Deuce

Irdhien Dresign Mark symbolizes produc excellence of the products refating io

(1) Servce Indusiry {2) Education Secior i3) Feal Eslates
fd) Banking ndustry {5) Mass Production Industry
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have been printed in bold 1o halp you locate them while answering some of the questions,

According fo Industry sowrces, the private education market in India was esfimated to be
warth § 40 billion in 2008 and increased to aboul § 68 billon by 2012, Daspile the growing investmant in
education, 35% of he populalion is lliterate and anly 15% of the students manage o reach kigh school
Among ihe engineering and polytechnicinstitutions about 57% of collega prafessors lack dither a Master's
degree or 8 PhD. Shorage of trained and quality faculty is becoming & major coneern far many Indian
educational insfitulions,

The Indian govermment lays emphasis on primary aducation up lo the age of foureen years
referred to &5 — Elementery Education in India, They have siso prohibited child labaur in order o ensure
that childran do not enter unsale working conditions and use that tima for education. 80% af &ll recognized
schogis in India al the Elermentary Stage are Government run or supporied, making itthe larges! provider
of education in the country. "Right of Children to Free and Compulsory Education Acl — 2009" bestows
free education lo children from 6 to 14 years of age or up to ciass VIIl. However, due to shortage of
resources and iack of political will, this system suffars from massive gaps like poar infrastruclure, poar
level of teacher fraining and the poor ratio betwesn the number of studenis and the number of ieachers,
The current schame of aducation for all in the age group of §-14 regardless of gender and socib-econamic
slalus — the 'Sarva Shiksha Abhiyvan' is one of the largest education initiatives in the world. Although the
enrciment locks promising, the quality stll remains low.

Education in India falls undér the control of both the Union Government and the States, with
some responsibilities Iying with tha Union and the States having sutonomy for others. The Indian
constitution has bestowed the citizens with school education &3 the fundamental righl. Inspite of all the
shortcomings, India is making relentless efforts to imprave the education syatem throwgh such
programmes.

A special programme = Integrated Education for Disabled Chidran (IEDC), was started In
1874 with a focus on primary aducation for disabled children. Alongside also came a special programma,
the Kendriya Vidyalaya project, stared for the employees of the Central Government of India, wha are
distributed throughout the country,

India's higher education system seems fo be fhe third largest in the word, It has about
20 Cenfral Universities, 215 State Universities, 100 Deermad Unlvarsities, 5 instiutions established and
functioning under thia Stata Acl, and 13 Institutes which are of national importance.  Tertiary level of
education in Scienca, Technology end Medicine are by and large given immense importance.

Which of the follawing i'era the stepis taken by the Indian Govemment to improve the |teracy rate
among children 7

(&) Compulsory educetion up to fourteen years of aga,

(B) Banon child labaur.

(Z) Providing trained facully to educational institutes

(1] Only (A} (2) Only (C) {3} Both (B) and (C)

i4) Both {&)and (B) (5] Al {A&}, (B) and ()

Which of the foliowing s 8 matier of concermn for the educational institutes in India 7
(1) Lack of well trained faculty

(2} The Slate Governmants have aulonomy in many educational matters

(3) Figlds related to scignce and techniogy are given more importance

i4) Almost 35% of the population is still iliterate

i3] Ofher countries have mare educabional insfitutes ss compared to India
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0.153,

What s the indian Government's. objective bahind inlroducing educational schemes and programmes 7

{1} Maintaining India's reputation in the field of education and improving it so that Inda has he largest
higher educational system in the waorld

(2) Eliminating the interference of the State Government from matters related o India’s lileracy rate

(3} Motivating the Indian Sludents to take up elther medicing or other science related subjects as

their careers

(4} Competing with private educational institutes and surpassing them
(&) Prowviding basic education fo every citizen of the country regardless of gonder, socio-econamic
background, physical disability and location In the country

@.154.  According lo the authar, why is tha education system in India facing protlems 7
(1) Most of the funds are being diverted towards aclivites other than education
(2} Lack of palitical will and poor availabiiity of resouroas in the country
{4 The enrolment under the Sarva Shiksha Abhiyan was very low
{4} Highly aducated and trained teachers do not wish loowork in the couniry
{5) india has very few schools, colleges, universifies and other educational institutes

@.155.  The Sarva Shiksha Abhiyan is for

(1) Ensuring the education far anly chidren who are above fourteen years of age

(2) Praviding financiaf aid fo students who cannot afford education in private institules

(3) Providing education lo chitdren from 6-14 vears regardiess of gender and socio-economic siatus
{4) Providing education o paople with physical disabilities regardiess of age

(2] Traming the teachers who will Be teaching in Government run schools and Colleges

Q.156,  Which of the following is true according to the passage 7
(1) The number of teachers in India s very low a8 compared o the number of students
(&) Fifty percent students manage to complete high school in India
{3] The Union Govamment holds the sole authorty whan it comes o the educational system of India
{4) Privaete educational institutes confribute more towards promoting primary education as compared

1o the Government
{5) None Is true

.157-160, Choose the word { group of wards which is most similar in the meaning to the word /! group of words

printad in bold as used In the passage.

Q.157. Relentless (1) Tirlng {2} Harsh {3) Parsiatent
(4] Ruthless {5} Feebla

0.158. Bestows (1) Takes {2} Calls (3} Providas
(4) Afforcs (5} Puts in

Q.159. Gaps 1) Distances {2} Divergences (3} Equalities
(4) Breaks (5} Obstacies

Q.160. Lays aurq:nhaéds on (1) Talks about {2} Stresses on (3} Acts an

(4] Volunieers for

(5) Cares for

Q.161-162.Choose the word / group of words which is most opposite in meaning to the word | group of words

printed in bold as used n the passage.

0.161. Lack 1) Need (2} Reguire (3) Include
{4) Possess {5) Contain

Q.162. Promising {1) Disappointing (2} Hopeful {3) Guaraniesing
4] Pladging (5} Incomplete
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Q.163-169.Each sentence balaw has a blank, each biank Indicating that something has been omitted, Choose the

Q.163.

Q164

Q.165.

166,

0Q.167.

a.168,

.16,

word that best fits the meaning of the sentense as a whols.

Children wha wish to ——— artistic careers should be encouraged to do so.

{1} finish 2] pursue i3) show (4} keap {8} lransfer
Hartieulture {oday s more than —— planting and martaining trees.

(1} =fter (2) on (3} now {4) fully (5) just
Energy prices ————— the production of fertilizers as well as costs related to food disiribution.
(1) affect 12} rise {3 bring (4) creals {5} affect
The street-piay ——— at Spreading swareness about the benefits of organic farming.

(1) sms (2) target (3} tries {4} talks (5] depicts
They will nol compromise on the quality as thesr credibility Is at :

(1) par (2} wiew (3] siake (41 scruting {3} chance
In many countrieés the petrol prices are revised on an hourly ——

(1} timing {2) gaps [3) changes (4} basis {5) phases
Around 42% of India's children below the age of three are malnourished and this — fs graater
than the statistics of the sub-Saharan African reglons.

{1] thing {2} amounts {3) area i4) figure {5) half

Q.170-175. Rearrange the following seven sentences {A), (B}, (C), (D), (E), (F}and {G) in proper sequence to form a

Q.170.

Q171.

Q.172.

Q173

444

meaningful paragraph then answer the questions givan belaw them,
(A} Modem technology and engineering have solved this protlem by hodding back the surplus water
instead of lalting it receda

{B) This great river has facilitated irrigation in Egypt and has produced the ferile area of the Nile Valley
and the Deita of Lower Egypt.

(C} Without tha Nile, Egypl would be a desart from end to end.
(D) This is done with the help of a huge dam at Assuan which is several hundred miles up the Nile.

(E) Due to this phenamenon there was aiways a Ihreal of draught unlil the nexi season's raing unti
madern tmes

{(F} Most of these farmars had lo depend on the rains as i was the only ime during the year when the
water level rose up, flooding the parched land and it want down as winter approsched.

(G) Almostall of Egypt's riches spring from this fertiie lend and It is cultivated by millions of farmers as
was dane by ancient Egypfians.

Which of tha Inllm-vlng should be the FIFTH sentence after the rearrangamant ?
{1 E (2) C {3} F 4y & {(5) D

Which of the following should be the FOURTH senlance after the reafrangement 7
(11 G (2) F (3) E (#) C (5) O

Which of the following should be the SECOND sentenca after the rearrangament 7
{1 A (2} D {3) B 4 o (5) E

Which of the following shouls be the FIRST sentance after the reafrangemen) 7
(1} B f2) F (3 D 4) A 5y C
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Q.174.

Q.175.

Which of the following should ba the LAST (SEVENTH) santence after the rearrangemant 7
{1 F (2} O {3) B (4} A {5) C

Which of the following showld be the SIXTH sentence after the rearrangement 7
(1) F (2) D (3) B (4) A (5} G

Q.176-185. Read each sentence carefully io find ocut whether there is any grammatical error init, The error, if any, will

Q17TE.

QATT.

Q178.

Q.179.

Q.180.

Q.1e1.

Q182

Q.1683.

Q.184.

Q2,185

444

b in one part of the senfence. That par of the sentence is the answer. |f there is no eror then mark (5)
i.e. ‘Mo Ermor’ as the answer. (lanore ermors of punctuations, if any).

Kingfishers are an group of [ small to medium sized brightly /

(1) (2}
coloured birds mainly found in |/ Ausiralia, New Zealand and the siand of New Guinea, Mo Error
(3) (4) (=
Modern Indian metros | are g veritable picture ¢ of 2ast and west in lerms |
{1 (2) {3)
of fashion and clothing. _ Ma Error
(4) {5
He went to the library | toreturn all the book !/ he had borrowed but |
{1} (2] (3
unfortunately it wes closed, Mo Emror
(4) (5)
Despite hiring ! the bast of lawyers Ravindra | did not gelting his rightful /
(1) (2} (3}
share in the propery. Mo Error
(4) {5)
An endangerad species [ s 8 population of organisms | which faces a high risk |
(1) (2} (3)
of becoming extinct, Mo Error
(4) {5)
My sistar will ¢ arrive on Maonday and [ will brings & bag full of cosmetics /
(1) {2) (3)
far ma from London. Ma Error
(4) (3
Accarding to a recent | survey India has being declared [ the second fastest growing /
(1] {2 (3)
econamy in the word, Mo Error
{4) - {5
The thieves locked / the servant in the / bathroom and stole all § the gold jewallany, Mo Error
(1) (2) (3) (4} ()
A metearite is a natural [ object originate in outer space / that survives Impact |
{1) {2} {3)
with the Earth's surface. Ma Error
(4] {53
I hardly recognising / the calabrity when [ ! saw him siting ona ! couch at the airport. Ma Error
{1] (2] (3} 4] £-3
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Q.188-185.1n the following passage Ihere are blanks, esch of which has been numbered. These numbess are

Q.188.
Q.187.
Q.188.
Q.188,
Q.180.
@181,
Q152
Q193
Q.194,

Q.188,

printed below the passape and against each five words are suggesied, one of which fils the blank
appropriately, Find out the appropriate word in each case.

FOI or Foreign Direct investment can be defined as a cross (186) investment, where foreign
gssels are invested in the organisations of the domestic market excluding the investmant in stock. 1t
(187} private funds from overseas into products and services. The domestic company, in which foraign
currency Is Invested, is usually being (188) by the investing foreign company. In the past decades, FDI
was concemed only with highly industrialised countries. U. 5. A was the world's largest (188) of FDI
during 2008 with an Investment of 184 million from OECD (Organization for Economic Co-operation and
Davalopment) countries, France, Greecs, lceland, Poland, Slovak Republic, Switzerland and Turkey
also have a positive recard in FOI investments. Now, during the course of time, FDI plays a (180) part
in every country maore particulary with the developing countries. This is because of availability of cheap
labour, uninterrupted availability of raw mataerial, less production cost compared o developed countries
and guick and easy market penetration,

Retailing is one of the world's largest private industries. Liberalizations in FDI have (181) 8
massive restructuring in retall industry. The benefit of FDI in retail industry superimposes its cost faclors,
Cipening the retall industry to FDI will bring forth benefits in terms of advanced employment, organised
retgil stores, availability of quality products at a (192) and cheaper price, Due to economies of aperation,
praduction facilities will be available at & cheaper rate theraby (133) in avaiability of & variety of products
to the ultimate consumers at & reasonabie and lesser price. FD| enables transfer of skills and technology
from overseas and develops the Infrastructure of the domestic country. Further, greater managerial
talent (194) from other countries is possible due ta FDI. FDI wifl provide necessary capital for setting up
organised retail chain stores. However, FDI is a long term investment because unlike equily capital, the
physical capital invested in the domestic company is not (188) liguidated.

(1) stake (2} industrial {3} border (4) bargain (S) return
{1) dismisses (2) assumes {3) detecis (4) brings (5) removes
{1) controlled (2) secluded (3) witnessed {4) authorised (5) eliminated
(1) recipient {2) governor (3) opponent {4) wisher {5) blunder
(1) least (2) wital (3) importani {4) instrumental  (5) dismissal
(1} bought (2] volunteered (3} displaced {4) uprooted {5) coused
(1) better {2) least {3) less {4} more (5] best

(1) reducing {2) regressing (3) causing {4) making (5) resulting
(1) outsourced _ (2} inflow {3) raisad (4) demolished {5} saturated
(1) easily {2) highly {3) apparently (4) precisely (5) cartainly
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Q.196-200.1n each gueston below, four words printed in bold type are given. These are numbered (1), (2}, (3) and
(4). One of these words prinied in bold might elther be wrongly spelt or inappropriate in the context of
the senlance. Find out the word that is ineppropriate or wrongly spall, ifany., Tha number of the word is
youranswer, Ifthewonds printed in bold are correctly spalt and approgriate in the context of the sentenca

Q.196,

Q.197.

Q.1948.

Q.199.

C1.200,

444

then mark (3) (e, "All Cormect” as your Bnswer,

Voleanic Mountaing are formed due to volcanic eruptions where magma pilies up on

{1} (2} (2}
the surface of the Earth,
(4)
The chairman of my company conducts various eco-friendly activities for the sake
(1) i2) {3)
of publisity,
(4)
It has bean questionad whather a diet high in sugar, especially refined sugar, is bad
(1 {2 {3
for heaith.
(4)
Shalini keeps all her valuebals in the bank locker because she does not trust anyone
{1) ' (2) {3)
including her mother
(4}
He was thia mamber of the commilies which decides the syllabus and the structure of
(1) {2} (3
exams for collages.

(4]
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Q. FOBM HO  : 444 (RIGHT AMSWERS)

= SN BN N NP N B NS W N NN W W NN NN NP G N NN RCWR M MR NN W e o e M m m w m w wmomowm oW

e e O A . . O S O O . . . S O S A . S . e -

1 1 51 4 101 5 LRI 4
2 4 52 4 102 3 152 1
3 4 53 g 163 2 153 =
4 4 LT 4 104 1 i54 2
5 £ 55 5 108 4 1558 3

B 3 56 1 106 3 156 1
7 3 57 o 187 3 157 3
B = 58 3 108 2 iEa 3

g 3 59 4 109 4 159 ]
1d 4 a0 2 116 5 1A0 F
il 4 Gl 3 111 3 igl 4
12 2 G2 4 112 4 152 1
13 2 &3 4 113 1 ig3 2
14 4 ad 2 114 3 164 5
15 2 &5 5 115 I 165 =
1B £ (-1-] x| 116 2 l1e6 1
17 =H &7 3 117 1 167 3
18 4 &8 4 118 2 1&8 4
19 z2 &0 3 11% 2 i69 ¢ 4
Z0 1 Ta 4 120 4 170 1
21 1 TL 5 121 3 171 &
22 2 T2 4 122 4 172 3
£3 4 73 3 123 3 173 8
24 4 T4 3 124 b 174 2
25 2 75 1 28 3 195 4
26 q T 1 3 1268 : 4 1746 1
27 2 T7 -3 3 127 ¢ A4 177 =
28 2 M o 3 128 2 176 b
29 5 TH 2 129 1 17% 3
20 4 g0 L7 130 4 180 5
31 1 Bl 5 131 2 1B1 3
i 1 B2 3 132 i 182 2
33 2 B3 2 133 1 183 5
34 5 84 2 134 2 184 2
3% & BS 3 135 4 185 1
1 K | 17 T 136 o) 186 3
37 . | a7 3 137 5 187 4
38 i 2 HE 3 138 3 188 i
ig 5 AG E 136 = 189 1
40 2 S0 3 140 5 180 2
41 1 91 5 141 1 151 3
42 =+ 1 92 1 142 L 182 1
43 3 1 93 5 143 1 193 5
44 i 94 L 144 | 184 2
45 5 9% 3 145 3 195 3
45 5 Q& 5 146 B 196 3
47 i a7 5 147 5 187 4
48 2 1) 3 1448 5 158 5
49 3 1" 5 1449 2 1559 i
50 1 100 1 150 5 200 4

o 8 . 5 o e o e e
T e e <t S S e o e e e o S . e L et e

Blank spaoce, if any against 0. no. means the Quastion ia drepped and marks addad
to candidates score i.e. credit given to all the candidates for the dropped
quesktion (s} .



